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In the following table, write the name of the element used to represen
the electrical circuit under the symbol that represents it.
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Three resistors tonnected together as in the figure.

Answer the fnlluwing questions?
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1at is the type of connection between the resistors in this electric
cuit?
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[E The figure shows the magnetic field diagram of a straight

magnetic bar
JSl o Uall gl o ol o
: iy

Which of the letters shown in the
figure represents:
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pole of magnet
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In which of the areas (2., ) labeled on the figure the
magnetic force is the weakest?
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If the pole indicated by the letter « is brought close to a similar

pole of another magnet, what is the type of force between the

two poles?
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Which of the following materials, if placed next to the magnet,

would not be attracted to it?
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